BH3

FEEe R (HETF )

(B - B, %)

= B
RS - B - AR
PHISE | BHAF = nE g (ﬁﬁm)
TED 8 147 5645 | A 498 A58 1
SkFH 8% 132 A4 A6
e 4,597 4,326 271 6.3 3
= 5 351 5794 | A 443 A 1.6 2
SEILTH 365 336 29 8.6
KE2T 1292 1532 A0 A6 7
Nt 4,003 3,399 604 7.8 1
HET 1,000 1,204 | A 404 A 28.8
BEET 529 698 | A 169 A 242
RET 744 1030 | A 286 A 27.8
AT 705 789 A8 4106
et 25 315 A0 4222
B 246 282 A 36 A 128
ZEHM 1,335 1,103 232 21.0 10
o 3. 306 352 | A 216 A 6.1 5
BT 50 4 9 22.0
HET 1405 1545 | A 140 A 91 3
AL 1,904 1,970 A 66 A 34 6
T 1. 389 2336 | A 997 A 41.8 9
BT 840 921 A8 A58
T 124 149 A5 A 168
B AT 772 824 A5 463
BED 371 185 | A 114 A 235
= 177 201 A2 A9
BRH 804 1090 | A 286 A 26.2
AT 617 622 A5 A0S
PRy 512 496 6 3.2
NET 305 628 | A 323 A 5.4
MET 986 844 142 16.8
T 118 163 A5 A26
=TT 254 247 12 5.0
AEAT 128 133 A5 438
mET 120 15 5 23
e 226 31 | A 125 A 356
L 122 128 A6 A47
NE AT 140 134 6 25
ABEET 248 193 55 2.5




(B - B, %)

P 4

mETF&%F | ~ 1 A, S
S5 FE SM4FE = =
3f /7 FEET 121 136 A 15 A 11.0
SEHT 86 82 4 4.9
#8125 T 19 41 A 2?2 A 53.7
% W HT ol 36 21 58.3
B ERT 28 28 0 0.0
A+ HEHT 34 36 A2 A D56
= 1 HT 34 34 0 0.0
FEZ JLHT 11 82 A 11 A 13.4
— = fy 145 155 A 10 A 6.5
B RET 22 20 2 10.0
E4£H 42 57 A 15 A 26.3
=) 21 16 5 31.3
EfHRT 10 15 A S A 33.3
EFfT 13 12 1 8.3
KZ=HT 15 10 5 50.0
TS RT 37 36 1 2.8
SEEET 23 36 A 13 A 36.1
mERaEt 43,762 46, 968 A 3, 206 A 6.8
FBERET 118 832 A 54 A 6.5
& &t 44, 540 47,800 A 3 260 A 6.8
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